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L. 1 mwn: the sequence of "N’ nTay is indispensable
a. If: he brought the 1ywn n71 before 190 07, must re-offer ywn o7 afterwards
b. If heis interrupted (e.g. the blood spills before finishing the minn), start from beginning of that stage
c.  Note: same applies to stages of Ny in 93>0, at antn nam — each is an independent 119>
i. w1 8" pick up where you left off (no need to go back to beginning of that segment)
II.  nmn> 7 and nnm “1’s limitations re: necessity of proper sequence (j3nv ’7’s explanation)
a. 77 " only mmay performed in ©292 125 *M1 are 20yn — (2 VWN — nRT [v. 1], nnR [v. 3] ~ yina 125 +anr)
b. /pnr 77 only mmay performed in 125 *ma (in or out) are 23vn (1 V1Y’ — other > wY; if spilled out early)
i. amm 77 included with yina 125 »ma (not 25yn) — don’t need a separate VYN ( ®N*12)
c.  Challenge to jar11> /1. he says that nnm "1 holds that 0w are 20yn - 22?
d. /2221 73: nyan before 990 nY'NY — must do another nyan (contra TN’ ')
i.  Perhaps not: nTi» 1 may consider N»an to be B9 nMay, since its purpose is for inside
1. Proof: our mwn — if 07 was spilt before inner minn, need new 07 (no mention of N1vP)
2. Rejection: perhaps the Xin omitted nop (context)
e.  Suggestion: Yw slaughtered before 19 Yw 17 1nn is invalid
i. Challenge: our mwn — only requires new nXti (should require new nVNY etc.)
ii. Defense: our mwn is referring to 202w nann
I w"n ami " re: function of nonwnn VYWY
a. 7m “r applies each word of v. 4 to different groups (587w’ 05 ,00n2) — 1 1793 via VYV
b. @7 'n% Pyw:e (re: WTPN NRMY) and NYNWYNN PYV:I9 (re: other MaY) — DN are 191 DM9INN
IV. Explanation of dispute n"1 (=p"n) and w"n R":
a.  p”r nnR nron (each segment must be done by one nxon)
b. " &7 nnNR "vn (each segment must be done only once)
V. Application to ymxn Y» mnna inn
a. 227 2py " told me that this dispute doesn’t carry over to ymxn (all agree must be from 1 1)
i. Challenge: parallel dispute recorded (re: starting over in mid-segment)
ii. Fix: »27 said that apy> 7 taught him (same dispute) re: 1%
iii. Final: mann of 10w (on head) not 15yn, b/c double wording I m...amm (vv. 5,7 - unlike nmn - v6)
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VI. 1y 7 Application of dispute (9711 R":~: RN ") to YNI¥N DYR NVNY:
a. »”r considers an out-of-sequence act as non-existent; redo nwx properly
b. "1 &”7: consider it meaningful — must start entire process again (new %)
i. n”r verse states MR (v. 8) — only 1 w1y — (but ®Xn»9a supports 3N 3: INR DYUR TIX
ii. Solution: depends on use of "77x” (N9 *1 — 7% means it can be repaired)
c.  Tangent: Y11¥n nwWR has to have 071 nYap by 2 0ns — 1 ma (Mnna jnn) and 1 2931 for narn Yy mann (like nxon)
VII. Removal of “incompleted” mxon
a.  »”1 X&”7. take out, burn, the one who burns them is D11 ®nvn (just like “completed” ones)
b.  opom: only final one is disposed of in that matter
i.  Question: how many D* 1YV are sent YIRY5?
1. (in such a case: where multiple pairs were used for n91n due to error)
ii. Answer: only 1 — states ymR (v. 9)
1.  ~37(299 77): send 1% one as per o1 ' re:
a. Case of: lost and replaced n'noa both in front of you at midday
b. Analogy: with 3,2,8 boxes in w1pn (2'9pw) doesn’t hold
2. »37(°p7w 37): send last one — since that’s the one that effected n993
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